
Left Foot PegRight Foot Peg

B4 - M8x60 S4 - Spacer
M8x16x31

B3 - M6x50 S3 - Spacer
M6x16x20

B2 - M8x60 S2 - Spacer
M8x16x22

B1- M6x40 S1 - Spacer
M6x16x10

S2

B2

S1

B1
S3

B3

S4
B4

RMZ19


	Sheets and Views
	Installation Manual RMZ19


